10/5(E) 3
T E3] IS

3 FEAEEREIEIAES = ~ £ & | & g iR
o ol R F| L2 |0 |E|R|AX| X BRI | & | R R £
& xX|E6|6|® RIHFH|R|~|B|E T ~ F|Z K R
p R A== # R & ~ = Ail

~|&|T|T|# | Al L Z IS

BR | m % - T (I L

]

RE [12:55] ~ [13:15] = [ = | — REARMKEERERT] 13:20]13:21]13:22]13:23[13:24]13:24] 13: 25 R EVYMERVI MK IR R IMKERKINERRVIKRKEY 13- 37| 13:38] 13: 30 KRN 14:11
S R A N 417 1418 14:19 [ I I R I KPP 1427 14:29 14:30 14:31 14:33 14:34 1435 [IEEY] (IEREIKERRTY 14 44 15:10
IRE 14:45]14:47]14:48[14:49]| — | — | — [ = | — [14:50]14:51[14:52[14:52]14: 53 RSPy MUS RV REFIRIHRTRY 15:05]15:06] 1507 REHK 15:39
G IR R N 517 15:18 15: 19 [ I [ R (R IS 15:27 15:29 15:30 15:31 15:33 15:34 15:35 [IREY] (REIKERRYY 15 44 16:10
IRE [15:54] ~ [16:14] — I 1616 16:17 1618 [ TREE) IR0 TRRA1 IR TP R TR K2 1626 1628 16:29 16:30 16:32 16:33 16: 34 R TRERINIRER 16:43 17:10

SEELSNERE. TZRT ~ LI BERATZ KL




